DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

PIVISION WITH -10 1O 10 1;?;1: Score: y—
s 16659 = (—3) = 50 —5104 = (—8) =
i) 552.88 =+ 8 = 75402 = (—9) =
333) G728 — 2 = a9 —171 + (=3) =
39) =237+ 1= s9) =72+ (=10) =
W) 1210.2 =3 = w0 8632 = 1 =
336 —64.74 + 2 = 1) 3361.5 + (—=9) =

337 —HR002 + 6 =
338 —264 + (—4) =
339) —237.27T + 3 =
310) 295.35 + (=5) =
) 432,72 + (—8) =
12) 1029 + (=7) =
s3) —1975 +2 =

31) BAB8.6 + 7 =

) 256.2 + (—4) =

Mathematics: Division - Level 6 - Horizontal - Set 5
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3462.4 - 8 =

318.18 = (—6) =

—23688 + (—9)

50834 = (—7) =

—3292+1=
302.2 +4 =

—90.95 + 5 =
6433.2 +9 =

—439.4 + (—1)
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